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1-6構造図

矩計図

小屋伏図



（固定＋積雪）=(50＋900 )×1.0=950

w ･l2 =
8

1
×950×0.721 2=61.73

w･l2=
128

9
×950×0.721 2=34.72

w･l4

l



w =（固定＋積雪）=(80+900 )×0.721 =706.6 N/m

w･l2 =
12

1
×706.6×2.80 2 =461.6 N･m

=1.5×461.6 =692.4 N･m

w･l=
2

1
×706.6×2.70=953.9 N

w･l4

l



w0= 80 N/m 2

w =86 N/m（梁自重）

l+
2

1
w･l2



w0 =80 =980 N/m 2

α= 
80

980
=12.25

∴ M =12.25×384.5+128.8=4839 N･m

  N =12.25×448+291.6=5780 N

δ=
I

12.25×15.44
+
I

4.708
=
I

193.8

12.25×15.44+4.708=193.8



N =-10.61×448+291.6=-4462 N

-10.61×15.44+4.708=-159.1δ= 
I

-10.61×15.44
+
I

4.708
=

I

-159.1







§5　基礎の設計

　　　　積雪時にて検討する

　　　　　　M=4839 N･m          N =5780 N=5.78 kN´

        基礎面積　A =0.80×0.80=0.64m 2

        基礎自重　N =23×0.64× (0.70+0.03 )=10.75F

kN                  N= N +　N = 5.78+10.75 =16.53´
F

          ε =
2

0.8
-0.25=0.15m

　　　　　e =
N

M-N´･ε
=
16530

4839-5780×0.15
=0.2403 ＞

6

L
=
6

0.8
=0.1333 (中立軸は面内）



         α=

3
2

1
-
L

e 

2
=

3 0.5-
0.8

0.2403

2
=3.34

         

x =3
2

L
-e =3

2

0.8
-0.2403 =0.4791n

kN/m ＜50×2=100kN/m →o.k2 2
∴σ =

A

α･N
=
0.64

3.34×16.53
=86.27max



§６　基礎の設計（風圧時）

　　　　風圧時にて検討する

　　　　　　M=-3951 N･m          N =-4462 N=-4.462 kN´

        基礎面積　A =0.80×0.80=0.64m 2

        基礎自重　N =23×0.64× (0.70+0.03 )=10.75F

kN                  N= N +　N = -4.462+10.75 =6.288´
F

          ε =
2

0.8
-0.25=0.15m

　　　　　e =
N

M-N´･ε
=
6288

-3951+4462×0.15
=-0.5219 ＞

6

L
=
6

0.8
=0.1333 (中立軸は面内）



         α=

3
2

1
-
L

e 

2
=

3 0.5-
0.8

0.5219

2
=-4.375

         

x =3
2

L
-e =3

2

0.8
-0.5219 =-0.3657n

kN/m ＜50×2=100kN/m →o.k2 2
∴σ =

A

α･N
=
0.64

4.375×6.288
=42.98max


